
H Math 2 
Midterm Review (Unit 1-4) 
 
Unit 1 Material: 
 

1)  Draw in the line of reflection for the following:         2)  Rotate the following figure 90◦ clockwise                   
around the origin.  

 

 

 

 

 

 
 

3)  Rotate the figure ABCD 180◦ around the origin.   4) Describe the translation that is shown. 

      (𝑥, 𝑦) → _________________    (𝑥, 𝑦) → _________________ 

 

 

 

 

 

 

 

 

5)  Describe the sequence of transformations with the fewest steps required to move the figure PMT   
to the image XYZ shown.  

       _______________________________________ 

 

       _______________________________________ 

 

       _______________________________________ 

 

       _______________________________________ 
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6)   a.  Draw all the lines of symmetry of this rectangle.  

 

 b.  What is the rotational symmetry of this regular pentagon?  

 

 

7)   a.  Draw all the lines of symmetry of this regular pentagon. 

 

b.  What is the rotational symmetry of this regular pentagon? 

 

 

8)   a.  Draw all the lines of symmetry of this regular parallelogram. 

 

b. What is the rotational symmetry of this regular parallelogram? 

 

  Unit 2 Material: 
 
State if the two triangles are congruent. If they are state the reasoning and the congruence statement.  

1)  △ _______  ≅△ _______     2)  △ _______  ≅△ _______  

    by ___________                          by ___________      

   

3)  △ _______  ≅△ _______     4)  △ _______  ≅△ _______  

   by ___________               by ___________ 
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5)  △ _______  ≅△ _______     6)  △ _______  ≅△ _______  

   by ___________               by ___________ 

 

 

Complete the triangle congruence proofs. 

 

7)  Given:  𝐴𝐸̅̅ ̅̅  𝑏𝑖𝑠𝑒𝑐𝑡𝑠 𝐵𝐷̅̅ ̅̅ , ∠𝐵 ≅ ∠𝐷 

      Prove:  ∆𝐴𝐵𝐶 ≅ ∆𝐷𝐵𝐶    

 

 

 

 

 

 

 

8)   Given:  𝐺𝐻̅̅ ̅̅  ∥  𝐼𝐽̅, ∠𝐻 ≅ ∠𝐽 

       Prove:  𝐽𝐺̅̅ ̅ ≅ 𝐻𝐼̅̅̅̅   
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9)  Given:   𝑃𝑅̅̅ ̅̅ ⊥ 𝑆𝑄̅̅̅̅ ,  𝑃𝑄̅̅ ̅̅ ≅ 𝑃𝑆̅̅̅̅  
     Prove:  𝑅 is the midpoint of 𝑆𝑄̅̅̅̅  
 

 

 

 
 
 
 
 
 
 
 
10)  Find the value of the variable(s) in each figure. Explain your reasoning. 
 
 
 
 
 
 
 
11) In the figure, m∠2 = 92 and m∠12 = 74. Find the measure of each angle.  
 

a. m∠10   b.  m∠8 
 

c. m∠9   d.  m∠5 
 

d.  m∠11   f.  m∠13 
 
 
 
 
 
12)  In the isosceles trapezoid 𝐴𝐵𝐶𝐷, the length of 𝐴𝐶 ̅̅ ̅̅̅is represented by 6𝑏 − 2 and the length of 𝐵𝐷 ̅̅ ̅̅ ̅is 

represented by 4𝑏 + 2. Find 𝑏 and the length of 𝐴𝐶̅̅ ̅̅  . 
 
 
 
 
 
13)  The lengths of the diagonals of a rhombus are 14 and 16. Find the measure of the length of the side 

of a rhombus. 
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Determine the measure of each angle. 
 
14)    𝑎 =  ____________      15)   𝑎 =  ____________ 
 

   𝑏 =  ____________               𝑏 =  ____________ 
 

         𝑐 =  ____________               𝑐 =  ____________ 
 

                                        𝑑 =  ____________ 
 

                  𝑒 =  ____________ 
 

Write and solve an equation to find the missing angle measures. 

16)            17)       
 
 
 
 
 
 
 
 
 
 
 
 
Unit 3 Material: 
 
Find the recursive and explicit rule from the following tables.  

1)         2)   

 

Recursive:             Recursive: 

 

Explicit:              Explicit: 

 

3)                                                                                                4)    

 

Recursive:             Recursive: 

 

Explicit:              Explicit: 
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5)          6)   

 

    Recursive:            Recursive: 

 

Explicit:             Explicit: 

 

 
Find then explicit rule from the following diagrams.  

7)  𝑓(𝑥) =       8)  𝑓(𝑥) = 

          

 

 

 

 

 

9)  𝑓(𝑥) =       10)  𝑓(𝑥) = 

 

          

 

Write a polynomial that represents the perimeter of the figure.  

 

10) Perimeter: ___________________________ 11)  Perimeter: ___________________________  
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Write a polynomial that represents the area perimeter of each rectangle.  

 

12)  Area:  _______________________________  13)  Area: _________________________ 

   Perimeter: ___________________________                      Perimeter: _____________________
  

 

 

 

          

 

Perform the indicated operation, then classify each polynomial. 

14)  (𝑥 − 4)2       15)  3𝑥(𝑥 − 4𝑦) − 5𝑥(𝑥2 − 2𝑦) 
   

 

 

16)  
6𝑥9𝑦8

8𝑥5𝑦7        17) 5(𝑥 + 2) + (4𝑥 − 5) − 1 

  

 

 

18)    (3𝑥2 − 4𝑥 + 2) − (2𝑥2 − 5𝑥 + 2)   19)  (𝑥2 − 3𝑥 − 1)(𝑥2 + 2𝑥 − 5) 

 

 

 

 

20)   (𝑥 + 1)7 

 

 

 

21)  (3𝑥 − 2)4 
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Unit 4 Material: 
Complete the square to put each of the following equations into vertex form: 

  1)  𝑓(𝑥) = 𝑥2 + 8𝑥 + 10     2)  𝑔(𝑥) = 𝑥2 − 5𝑥 − 3   
  

 

 

 

2) ℎ(𝑥) = 4𝑥2 + 16𝑥 − 15    4)  𝑘(𝑥) = 1
3

𝑥2 + 6𝑥 − 12 

 

 

 

Given one form of the quadratic, find the other two forms (if possible). Make a table and graph each 
of the following equations on the grids provided.  (Include at least two accurate points on either side 
of the line of symmetry.) 

 

5) Vertex Form: 𝑦 = 2(𝑥 − 1)2 − 3   6)   Vertex Form: ______________________ 

Standard Form: __________________         Standard Form:  𝑦 = 𝑥2 + 4𝑥 + 3 

   

 

 

 

 

 

 

 

 Vertex: _______________     Vertex: _______________ 

 Axis of Symmetry: _______     Axis of Symmetry: ________ 

 Transformations from 𝑦 = 𝑥2:    Transformations from 𝑦 = 𝑥2: 
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